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1. Introduction
During online session in RAN3#81, connection failures due to cell splitting/merging problems were identified,  the solutions to the problems were also discussed.
This contribution provides the text proposal summarizing the further offline discussions, which is proposed to be captured into TR 37.822 [1].
2. Text proposal
4.2
SON for AAS-based deployments

	*** Unchanged omitted ***


4.2.x  Connection failures due to cell splitting/merging
Problem description:
a)  Radio link failures in the splitting/merging cell
Once the cell splitting is triggered, the eNB controlling the cell to be splitted may not yet know exactly which UEs will be impacted.Therefore, it may not be able to initiate a handover for some UEs accordingly before the cell splitting action. Even though such UEs could be identified and assuming that these UEs are in active mode while the cell splitting occurs, it is not guaranteed that a suitable target cell for handover is available. Consequently, these UEs may experience an RLF.

In addition, some UEs served by the cell for whichthe PCI is unchanged before and after a splitting/merging action, they may also experience an RLF if the interruption time due to cellsplitting/merging is too long (e.g., longer than the RLF detection related timer T310).

Moreover, once the cell splitting is triggered a large number of UEs may have to be in handover procedures. Therefore, this solution may result in high handover failure cases because of the inter-cell interference in the intra-frequency deployment.
b) Incoming handover failure and consequent re-establishment failure
Handover preparation may betriggered by a neighbouring eNB to the cell to be splitted/merged before the cell splitting/merging action.When the UE tries to access the target cell, the target cell may havechanged due to sectorcellsplitting/merging.This handover may fail due to unsuccessful access. Soon the UE attempts to re-establish the connection in the best cell, it would fail due to lack of re-establishment information for this cell.
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